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But now it would appear that - IXf2 R7N XY 19152 ROW ARAR 7A0YH KON
a protest not in his presence should not be a protest

OVERVIEW

XY 27 asked that if we derive %W '3 np1n from ¥ MW, then we should also
derive that a n8mM X7 X2 1192 ROW nxnn. It would seem that his question is that if
the vy made his 1192 X5W 7Rn7, it should not be a valid 7xnn, and therefore the
aptn should be a proper apm.' However mooin is not satisfied with this
explanation. One reason may be that if a aXmA 817 X 1192 XOW 78nn, then if the
qv7yn lives in a different city from the 2117, he would be required to travel to the
s'P1n city to make a faXmn. This, NMDOIN maintains, is unreasonable.” Another
difficulty with this interpretation is (as Moo later states’) that a X777 is coming
to establish a new 1P, while a 7XAN is coming to retain the present 7P, We
cannot derive one from the other. N1901n therefore chooses a different interpretation
of s'X7”Y 27 question.

—9199% NWHYA NPIN MNNT TNN YN NIYT Y9N 13 PNYY 19919 WY
The >''1 explained the s'® 13 question as follows: just as you derive from =W

Tv1a7 that a 12 is established in three times —
— DM 1Y TN RIP 9N XYY 19392 DNTYN 7598 9 113 995 913 %91

let us also similarly derive from 7¥17 MW an additional lesson; just as by a =W
[Twy277] it is required that the warning take place in the presence of the owner;
however a warning not in his presence is insufficient to render the ox a 7v7 and
one does not say that the warning 1192 X7W is adequately publicized and a nX7vn

1192 X7w should be adequate because the owner of the ox will hear of the 7x7v7; we do not
assume that, but rather we require a 1192 7X7Y7, because we assume that the owner will not hear
the IRTY7 —

— DPIN RNAN KDY XIP N0 1997 99199199 10 NN 19392 XYY ANNM 923 95N
Similarly by oo '3 npri if it is a 392 XY@ 8w, if the 2y7yn and po1on live far
apart, we should also assume that the 7xn» does not have sufficient publicity and
the P11 will not hear the nxnn, and therefore it should not be a 1P -

" This seems to be """ understanding of the Xm3 (see 7R 7"7 "wA).
% See "1nph MIMTI MIANRY PPTANA "% NANR Y2 KIY TR PR KT ,ROR 77 K00 19p0 'O,
? See also footnote # 10
* The n"2n N3 amends this to read; T TPMWT M.
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— SARNNY 5D PRT 1193 NPIND INPYY 59 Y 9N
Even in a case where the 7v7y» heard about the 1P3m; nevertheless it should still
not be considered a fiP11. The reason it should not be a 7P, is since the objection

will have no publicity; the P>11n will not hear it -
—IIRND PIHNRY Y9N KYY 113 AN BR DS99 190 A

[for] what would it accomplish if the 77y objects, since his objection will not

reach the ears of the P17, Therefore since there is no purpose in the 7Xm», there is no
reason for the 7w wn to make a axnn.® If no 7xA7 needs to be made, there can be no 1. The
validity of a 7p1n is based on the fact that the 7vwn did not object.” If there is no need (or
purpose) to object, there can be no P11, The question that the X713 asks, 1°192 XoWw 7RMN 7NYH KR
"2, 1s that if the 7p177 is not TwIv»; °192, it should not be a 7P (not that it should not be a 7Rm~
and it should be a 73p117).

mooIn anticipates the following question:
— ©PY NI ARTYAM NPIND HVAY AN AINNNY ) DY N

And even though that the intent of a a8n% is to nullify the 7275 as opposed to the

warning by a 7917 7W; whose intent is to substantiate a new 1pm. How can we
derive from 7177 MW that just as to establish a 7117 it must only be 1192, similarly to establish a
TRM it must also be 1°192? Perhaps the rules concerning establishing a npin differ from those of
establishing a xnn! When we wish to establish a new 7p11, to change from the previous status, it
requires a greater effort (only 1°192); however to establish a X1 (which will prevent a 7P from
taking effect, and maintaining the present status) that can be accomplished much easier (even
r192 X9w).'°

> moon will point out later that a 1392 Xw 7P has a greater chance of being heard (by the 9yw») than a Xow 7xm?

1192 has a chance of being heard (by the p>1min).

% The n"2n mmx1 amends this to read; M 3°%7 X 29 77 72T

7 This seems to indicate, that moo1n maintains that (even) according to the Ty TMwn 7%, the purpose of the xm»

is to weaken the position of the P11n, by challenging him that since there was a nXmn, then where is the q0w. If the

P 1 will not hear the 7Ry, the purpose of the nXnn» is defeated.

¥ See “Thinking it over # 2.

? In the confrontation between the 9y7wn and the p i, the 7y7yn (generally) has proof that he was the original

owner. The p*11 has no "vw. The claim of the P 1rn that he bought the field from the 7¥7vn is substantiated (only)

by the 7P and the lack of a nxmn. If the 7v7wn did not sell the field, why did he not protest? Had the ayvn

protested, that would have alerted the P>t to keep his “uw. If however the P>1in would not have heard the 7xmn

anyway, what purpose is there in making it? Consequently the P11 in such an instance is meaningless, for it does

not substantiate the claim of the p>1rn.

"1t is readily understood that it is more difficult to change the status quo that to retain it. When there is either a

TRTYT or 1°192 KW RN we are not certain whether it is sufficiently publicized or not. Therefore by a 1192 Xow 7877,

since we cannot assume that it was heard by the owner, so the status quos remains; the W is still a an. By Row nxnn

1193, however, even though we are not certain whether the P> heard the nRmn, nevertheless it is possible that he

did hear it. Since it is in doubt we let the original status remain. The field should remain 2y yn7 np12. (Alternately,

since the 7y7y» made a nXmn, therefore the basis of the 7P is undermined. Even if this aXmn» is questionable [since
2
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mooIn responds:

— %9V 7599 ©IPN Yan
Nevertheless the question of nXmn 7nyn X9X is justified. nmooin explained previously
that by arguing that 7R X0 X7 1192 ROW 7Rn7, we really intend to say that Xin X2 12192 XKW 70
npin. Therefore the T°% from 737 MW is accurate; in both cases (by v MW and 2°3w '3 NpIN)
we wish to invalidate a 192 85w mpin.'!

mooIn anticipates and addresses another question on his interpretation: If the intention of the
X 13 is that we should derive from 7¥1n77 MW that P17 870 &2 17192 XYW AR —
— DPIN VPI R INNN VPITNM

So why did the &7 mention the case of 1192 X5w n8m» and it did not mention

the case of 17192 X?W 1PIM; since we are interested to derive that a 1°392 85w 7P, cannot take
effect. The X7mx should have asked that 7Pt Xan X 17192 KXW npin instead of axnn. The same
logic that dictates that 7Xmn 177 X7 1102 XYW 7R, since the 1 does not hear the aRm», will also
dictate that 17192 X7w 1P should not be a 7117 since the 2y7¥n does not know about the 7P, so
that he should be mn.

mooIn replies:
— ANTYNN 29V NYNYI NPINT OIYN
Because a 77117 is more readily heard than the warning of a 7v17 w. The fact that
the X777 of a 7¥IM7 W must be 1192, would not lead us to conclude that a 1°192 X5 71717 is not a
7P, We could differentiate between them. The owner of the 7 may not hear the Ax7v77 of the
7 (therefore it is not a 7¥n); however the 7¥7vn will more likely hear of the fpin (therefore it
should be a valid 7pm).'* That is why the X713 cannot ask initially that 7P 870 &9 17192 XKW 7P,
— Bam» nynws 0N DNAN YaN
However the objection of the 7v7y7» is not more readily heard than the %797 of the
7. Therefore we can compare the two, and argue that just as a 1°192 X?w 1x7v7 is invalid (since
the owner will not hear it) similarly a 1°192 X>w nxnn is invalid (for the p°1n will not hear it).
Once, however, that we derive that a 1192 X5W 7872 is not a 7xnn, then it follows that a X5w 7PN
1°191 is not a APIN. There can be no 7P without the need and opportunity of a purposeful axm~.

nMoYIN anticipates an additional question: The &3 when it asks the question that a 1°192 X5w 7RmN

9@ 17 PR], nevertheless, it should suffice that the 27y retain his original npr.)
' If the intention of the question XM N X9X was that it should not be a Axm», then there would be a difficulty as
just mentioned; however since as N0IN explained, the intention is that there should be no 7P, then it is similar to
Y7 MW, in both cases 1192 X5W cannot establish a ap1m.
'2 An absentee owner is continually inquiring as to the status of his fields; therefore he will be aware of any 7pin in
his field.
" In both cases neither the owner of the M or the purchaser of the field anticipates any difficulties or changes of the
present status
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should not be a 7Rn», just as by a 7917 MW a PIDA RPW IRTYA is not a IRTYA, the RIM3 is assuming
that the reason why a 1’192 X>W X791 is invalid, is because the owner will not hear of it. Similarly
the 7Rm» which has the same publicity as a IX7v17 (as just mentioned) will also not be heard. If the
X713 assumes that the 119 X5w axnn will not be heard, then —

— 13297 NAON 14‘["19‘19 ANRNN NNAN RIT 799910 2810 1N T9INN 9IY RHA)

The same question can be asked without any reference to T¥yai 9w. The X3
could have simply asked that a 1°192 5w 7%nn should not be a valid s8n%; since it
cannot be heard by the p*1n. Our MdOIN proves that the question of 17192 XYW RN
TR RN R, does not require any support from 75 MW as the X3 will later ask

according to the 7127, who do not derive °1w '3 npm from 717 MW, but rather from a X120.
Nevertheless the X713 asks there that a 7Rm2 RN X2 17192 ROW 78AN, since it cannot be heard. Why
did our X713 have to resort to compare 2°1% 'A NPT to 7Y MW, in regards to this question?!

moon answers: In truth it was not necessary to depend on 77 MW —
— 1193919 799139 115D RN TINN VN 49997 1995 NON

however since we derive 2°1¥ '3 NP from T¥7 W it is easier for the jwpn to

challenge the status of 1°192 X5w 7Rnn from 7yma Mw; for from 77 MY we have proof
that 1°192 X?w has no 9Ip, since 1192 X5Ww X7V is invalid.

mMooIn continues with the s'& 73 answer to the question of XMy 10
— ARTYNY 12 ARNNY 122 DIP YW 79D 1N XI2N T30 2IWN)

And the X3 answers: ‘Your friend has another friend, etc. so there is adequate

publicity both by a 7xn» and 78T¥7; which explains why a aARm? X717 17192 X9 7807 -
— 19392 D191 19 ON NIN 191 DY) PRT NXIN 2ININ N1 NP9 NNTYNA AN

However, concerning 18757 only, it is a decree of the 770 that the ox does not
become a 7v1% unless the witnesses testify in the presence of the owner —

3127 %23 MV LY YPYNY DT GIND I 99309 1DIaN
Even if the owner will become aware through the testimony of a thousand
witnesses, who will come to the owner and testify that witnesses testified in 7''52

concerning your ox; that he gored three times, nevertheless since he was not warned
personally (in 7"°2) to guard his ox he will not be 7¥1% *m%wn2a 2>» 1. The reason why IR7Y7 must
be 1°191 is not because the owner is not aware; but rather it is a special requirement that he be
warned personally by the 27y (in 7"°2).

SUMMARY

14 X5% 71"7 '0I0 W ,R,0 TR
'3 See “Thinking it over’ # 3.
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The question 21 nXmn 7ANYRA ROX, is that since a 1192 ROW ARTYA is not a IRTYA
therefore a 192 X?w nxnn should not be a 7Xm» and consequently the 1192 ROW [P
should not be a 7p1m.

THINKING IT OVER
1. In the previous Mo0IN there were two ways how to understand the 72°% from W
77 A. Three years makes the p>1n a prm in the field and the qw7wn is a &2,
B. If the 7y7vn did not protest for three years, then he is presumed to give up his
rights.'”” When the X7n3 asks 21 ixmn 7nyn XK, which of these two interpretations
1s the X713 following?

2. mooIN states that since a 17192 X7w xm» will not be heard by the P 1rn, there is no
point in the 7xm.'® Seemingly there is a point to the 7Xmn even if the P> does not
hear it. It invalidates the proof of the 7pim. We cannot say that if it is the svvn
field, why did he not protest. The 7w1wn did protest.'

3. Why is it necessary for Mo to explain®® the y17°n of the X13?

16 See 7y 17"7 x,75 'oIN.

17 See mpm 191 KK 71"7 2,12 'O,
18 See footnote # 8.

19 See an mx 7"270.

20 See footnote # 15.
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